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Note : Question No. 1 is compulsory. Attempt 

any four questions from Question Nos.  

2 to 7. 

1. (a) Fill in the blanks in the following : 5 

  (i) Drainage pipes used in the labs 

are normally made of material 

that is ……………  to corrosion.  
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  (ii) Incineration is the safest way for 

the disposal of …………….. 

material. 

  (iii) Dewey decimal system is a 

standard …………… system used 

in libraries for arranging the 

books. 

  (iv) Break in earthing system is one of 

the reasons for ………….. mishap. 

  (v) The sliding panel of a fume 

cupboard is made of ……………. . 

 (b) State whether the following statements 

are True (T) or False (F) : 5 

  (vi) The lab staff while lifting heavy 

objects should always keep the 

back in bending position. 
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  (vii) Water as fire extinguisher cannot 

be used for fires originating from 

electricity and electric appliances. 

  (viii) Outlook is one of the softwares of 

Microsoft Office for e-mail and 

scheduling. 

  (ix) Record keeping is not necessary in 

case of petty cash expenditure in a 

laboratory. 

  (x) Any type of material can be used 

for making the shelves in a lab 

store.  

2. (a) Explain giving an example, how making 

observations is crucial for science to be 

the process of inquiry. 5 

 (b)  Why a lab should be properly 

ventilated ? Describe. List the ways by 

which ventilation can be provided in a 

lab.   5 
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3. (a) Describe the functioning of an 

autoclave. How does the operation of an 

autoclave affect the preparation room ?  

       5 

 (b) Briefly explain any five aspects of day-

to-day organization of lab for efficient 

conduct of practical work. 5 

4. (a) List the various ways by which bin 

cards are used. What is the full form of 

the term ROQ ? 5 

 (b) What is the main aim of the filing 

system ? Outline any four ways of 

classification of files. 5 

5. (a) Discuss briefly the overall functions of a 

computer. 5 

 (b) Calculate the current drawn by a 2 kW 

geyser running on a 220 V mains. Is it 

possible to run this geyser on a supply 

line protected by 4 A fuse ? 5 
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6. Explain the fire triangle. Write any five 

common causes of accidental fire. 10 

7. Write short notes on any two of the  

following :  5×2=10 

 (a) Classification of hazardous chemicals 

 (b) Disposal of unserviceable and obsolete 

lab items 

 (c) First Aid Box 

 (d) Stock Records  
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Ikz;ksx'kkyk rduhdksa esa izek.k&i= dk;ZØe 

(lh-ih-,y-Vh-) 

l=kar ijh{kk  

twu] 2025 

lh-,y-Vh-&101 % mÙke iz;ksx'kkyk i¼fr;k¡ 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % iz'u la[;k 1 vfuok;Z gSA iz'u la[;k 2 ls 7 rd fdUgha 

pkj iz'uksa ds mÙkj nhft,A 

1- (v) fuEufyf[kr esa fjDr LFkkuksa dh iwfrZ dhft, % 5 

  (i) iz;ksx'kkyk esa mi;ksx fd;s tkus okys ty 

fudklh ikbi fo'ks"k rkSj ij ,slh lkexzh ds 

cus gksrs gSa] tks {k; ------------- gksrh gSA 

  (ii) HkLehdj.k ------------- inkFkZ ds fuiVkjs dh 

lcls lqjf{kr fof/k gksrh gSA 
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  (iii) M~;woh n'keyo iz.kkyh iqLrdksa dks iqLrdky;ksa 

esa O;ofLFkr djus esa mi;ksx esa ykbZ tkus okyh 

ekud --------------- iz.kkyh gksrh gSA 

  (iv) HkwlaidZ iz.kkyh ls VwV tkuk ------------ nq?kZVuk 

ds dkj.kksa esa ls ,d gksrk gSA 

  (v)  /kwe&d{k ds lihZ iSuy --------------- ds cus 

gksrs gSaA 

 (c) crkb, fd fuEufyf[kr dFkuksa esa ls dkSu&ls lR; gSa 

vkSj dkSu&ls vlR; % 5 

  (vi) Hkkjh oLrqvksa dks mBkrs le; ihB dks >qdh gqbZ 

fLFkfr esa j[kuk pkfg,A 

  (vii) fo|qr vkSj fo|qr laca/kh miLdjksa ls mRiUu 

vkx ds fy, ty dks vfXu'kked ds :i esa 

bLrseky ugha fd;k tk ldrk gSA 

  (viii) bZ&esy vkSj fu;kstu ds fy, vkmVyqd 

ekbØkslkW¶V vkWfQl iSdst dk ,d lkW¶Vos;j 

gksrk gSA 
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  (ix) iz;ksx'kkyk  esa [kqnjk jksdM+ O;; esa fjdkMZ 

j[kus dh vko';drk ugha gksrh gSA 

  (x) iz;ksx'kkyk Hk.Mkj esa 'ksYQksa dks cukus ds fy, 

fdlh Hkh izdkj ds inkFkZ dk mi;ksx gks ldrk 

gSA   

2- (v) ,d mnkgj.k nsdj O;k[;k dhft, fd foKku ds 

fy, vUos"k.k dh izfØ;k ds :i esa gksus ds fy, 

izs{k.k djuk vko';d D;ksa gksrk gSA 5 

 (c) o.kZu dhft, fd iz;ksx'kkyk Bhd izdkj ls 

okrk;fur D;ksa gksuh pkfg,A mu lc rjhdksa dks 

lwphc¼ dhft, ftuds }kjk iz;ksx'kkyk esa okrk;u 

iznku fd;k tk ldrk gSA 5 

3- (v) vkWVksDyso dh dk;Ziz.kkyh dk o.kZu dhft,A rS;kjh 

d{k dks vkWVksDyso dk pkyu fdl izdkj izHkkfor 

djrk gS \ 5 
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 (c) izk;ksfxd dk;Z ds le{k pkyu ds fy, iz;ksx'kkyk 

ds fnu&izfr&fnu laxBu ds fy, fdUgha ik¡p 

igyqvksa dh la{ksi esa O;k[;k dhft,A 5 

4- (v) fcu dkMks± ds bLrseky ds fofHkUu rjhdksa dks 

lwphc¼ dhft,A ROQ in dk iw.kZ :i D;k gksrk 

gS \   5 

 (c) Qkbfyax iz.kkyh dk eq[; mís'; D;k gksrk gS \ 

Qkbyksa ds oxhZdj.k ds fdUgha pkj rjhdksa dh 

:ijs[kk nhft,A 5 

5- (v) dEI;wVj ds laiw.kZ dk;ks± dh la{ksi esa ppkZ  

dhft,A  5 

 (c) 220 oksYV ds eq[; rkj ij pyus okys 2 kW ds 

xhtj }kjk yh tkus okyh /kkjk ifjdfyr dhft,A 

D;k bl xhtj dks 4 ,sfEi;j ds ¶;wt }kjk lajf{kr 

lIykbZ ykbu ij pyk ldrs gSa \ 5 
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6- vfXu f=Hkqt dh O;k[;k dhft,A vkdfLed vkx yxus 

ds fdUgha ik¡p lkekU; dkj.kksa dks fyf[k,A 10 

7- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, %

     5×2=10 

 (v) ladVe;h jklk;uksa dk oxhZdj.k 

 (c) vuqi;ksxh vkSj vizpfyr iz;ksx'kkyk oLrqvksa dk 

fuiVku 

 (l) izkFkfed mipkj isVh 

 (n) LVkWd fjdkWMZ  

× × × × × 

 

 

 

 

 

 

 


